IB Biology II

Statistical Analysis


Standard Deviation              
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HOW TO CALCULATE STANDARD DEVIATION:
	MEN
	WOMEN

	0.90
	1.50

	2.00
	3.00

	1.40
	3.00

	2.00
	2.50

	3.00
	3.00

	2.00
	3.00

	3.00
	4.00

	4.00
	3.00

	3.70
	2.00


1. Calculate the mean (M) of a set of data

	MEN
	WOMEN


2. Subtract the mean from each point of data to determine (X-M)  

	MEN

	WOMAN


3. Square each of the resulting numbers to determine (X-M)2
	MEN


	WOMEN




4. Add the values from the previous step together to get ∑(X-M)2  
	MEN
	WOMEN




5. Calculate (n-1) by subtracting 1 from your sample size.  Your sample size is the total number of data points you collected. 

	MEN
	WOMEN




6. Divide the answer from ∑(X-M)2  by the answer from (n-1) to find ∑(X-M)2

                                                                                                                         n-1
	MEN
	WOMEN




7. Calculate the square root of your previous answer to determine the standard deviation

	MEN
	WOMEN




